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(A) )a vertical asymptote a x =3 =00

(B) a horizontal asymptote at y = 3

L~ = 00
(C) aremovable discontinuity at x =3 x >3 ‘ﬂ
(D) avertical asymptote ax =-3
(E) none of these
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= 3. How many vertical asymptotes exist for the function f(x)=— ! - in the

2sin’ x —sinx 1
open interval 0 <x < 2n?

(CVU ®) 1 ©) 2 @J 3 () 4
TR e k=%, x: 1T g g = LT
07 (S A X - ‘Z) - o , * = 6
. (x)= o®
lin f6) = - o2 Lim () =-op y-!L‘l' -t
Yl x=% x=1L" bwe
‘ J 0 =
L"‘;,-v F(x) =P 1‘_,, ee) = xa%ﬂ'c
x4 xa_‘:
el %X x) =%
tan(%+x)—tan(%) Le+ FL)*=
lim — X
%4- x—0 x
V3 4 X
A)3 3 «©) V3 ®) 0 ® 3
.ol .
x | -.v |-.0! \-.ool\ol.oo|/l‘,°‘-llll':,z,o.
.3 .
£y | L265 (1326 | 13%2 "'3?1_/

. _ s
x‘/;; £6) = qé lc &c—;bo‘ €)= 1335 ,’o*.



